

$$\cos(yx) = y \sin x - 1 = 1 - y \sin^2 x \rightarrow y \sin^2 x + y \sin x - y = 0 \quad (1)$$

$$(y \sin x - 1)(\sin x + y) = 0 \rightarrow \sin x = \frac{1}{y} \rightarrow x = yk\pi + \frac{\pi}{y}, yk\pi + \frac{2\pi}{y}$$

$$\sin x = -y \cdot x$$

$$\cos(yx) + \cos x - y = 0 \Rightarrow y \cos^2 x + \cos x - y = 0 = (\cos x - 1)(y \cos x + y) = 0$$

$$\cos x = 1 \Rightarrow x = yk\pi$$

$$\cos x = -\frac{y}{y} \cdot x$$

$$\sin^2 x - \cos^2 x = (\sin^2 x + \cos^2 x)(\sin^2 x - \cos^2 x) = -\cos 2x = \sin 2x \quad (2)$$

$$\Rightarrow y \sin^2 x \cos 2x = -\cos 2x \Rightarrow (y \sin^2 x + 1) \cos 2x = 0 \rightarrow \sin^2 x = -\frac{1}{y}$$

$$\rightarrow yx = yk\pi + \frac{y\pi}{y}, yk\pi + \frac{11\pi}{y} \rightarrow x = k\pi + \frac{y\pi}{y}, k\pi + \frac{11\pi}{y}$$

$$\cos 2x = 0 \rightarrow yx = k\pi + \frac{\pi}{2}$$

$$y \cos^2 x + y \sin x \cos x = 1 \Rightarrow \cos 2x = -\sin(yx) = \sin(yx)$$

$$\rightarrow \sin(yx) = -\cos 2x$$

$$\tan(yx) = -1 \rightarrow yx = k\pi + \frac{y\pi}{y} \rightarrow x = \frac{k\pi}{y} + \frac{y\pi}{y}$$

$$\rightarrow \sin x \neq 0$$

$$\cos(x)(y \cos x + 1) = \frac{1}{\sin x} \Rightarrow \cos 2x (y \cos x + 1) = 1 \quad (3)$$

$$y \cos^2 x + \cos x - 1 = 0 \Rightarrow (y \cos x - 1)(\cos x + 1) = 0$$

$$\rightarrow \cos x = -1 \rightarrow \sin x = 0 \cdot x$$

$$\rightarrow \cos x = \frac{1}{y} \rightarrow x = yk\pi + \frac{\pi}{y}$$

$$y \sin^2 x - \sin x \cos x + \cos^2 x = y \rightarrow 1 - \cos 2x - \frac{1}{y} \sin 2x + \frac{1 + \cos 2x}{y} = y$$

$$\rightarrow \frac{1}{y} (\sin(2x) + \cos(2x)) = -\frac{1}{y} \rightarrow \sqrt{y} \sin(yx + \frac{\pi}{4}) = -1 \rightarrow \sin(yx + \frac{\pi}{4}) = -\frac{\sqrt{y}}{y}$$

$$\rightarrow yx + \frac{\pi}{4} = yk\pi + \frac{3\pi}{4}, yk\pi + \frac{5\pi}{4} \rightarrow x = k\pi + \frac{y\pi}{y}, k\pi + \frac{5\pi}{y}$$

$$\text{الف) } \cos\left(x + \frac{\pi}{4}\right) \cos\left(x - \frac{\pi}{4}\right) = \left(\frac{\sqrt{2}}{2}(\cos x - \sin x)\right) \left(\frac{\sqrt{2}}{2}(\cos x + \sin x)\right) \quad (1)$$

$$= \frac{1}{2} (\cos^2 x - \sin^2 x) = \frac{1}{2} \rightarrow \cos 2x = \frac{1}{2} \rightarrow 2x = 2k\pi \pm \frac{\pi}{3} \rightarrow x = k\pi \pm \frac{\pi}{6}$$

$$\text{ب) } \cos\left(2x - \frac{\pi}{4}\right) = -\sin 2x = \cos\left(2x + \frac{\pi}{4}\right) \Rightarrow \cos\left(-2x - \frac{\pi}{4}\right)$$

$$\Rightarrow 2x - \frac{\pi}{4} = 2k\pi + 2x + \frac{\pi}{4} \rightarrow 2x = 2k\pi + \frac{\pi}{2} \rightarrow x = k\pi + \frac{\pi}{4}$$

$$\frac{\sin(2x) + \sin(x)}{\sin(x)} = \cos^2 x + \sin^2 x = 1 \rightarrow \sin(x) = 0 \quad (d)$$

$$\sin(x) \neq 0 \rightarrow x \neq k\pi + \frac{\pi}{2} \rightarrow \sin 2x \cos x = 0 \rightarrow \cos 2x = 0 \rightarrow x = k\pi + \frac{\pi}{4}$$

$$\frac{\sin\left(\frac{x}{2}\right)}{1 + \cos\left(\frac{x}{2}\right)} = \frac{1 + \cos\frac{x}{2}}{\sin\frac{x}{2}} \Rightarrow \tan\left(\frac{x}{2}\right) = \frac{1}{\tan\left(\frac{x}{2}\right)} \quad (e)$$

$$\tan\left(\frac{x}{2}\right) = \pm 1 \rightarrow \frac{x}{2} = k\pi \pm \frac{\pi}{4} \rightarrow x = 2k\pi \pm \frac{\pi}{2} \rightarrow x \in \left[-\frac{\pi}{2}, \frac{\pi}{2}\right] \rightarrow x = 0$$

$$\cos^2 x - \sin^2 x \cos^2 x = 1 \Rightarrow -\sin^2 x (\cos^2 x) = 0 \quad (v)$$

$$\sin^2 x = 0 \Rightarrow x = k\pi \quad \cos^2 x = 0 \Rightarrow x = \frac{\pi}{2} + k\pi$$

$$x = 0, \frac{\pi}{2}, \pi, \frac{3\pi}{2}, 2\pi \quad \text{and } x = \frac{\pi}{2}, \frac{3\pi}{2}$$

$$\sqrt{1 + \sin 2x} = \sqrt{2} \cos(x) \geq 0 \quad (g)$$

$$\rightarrow 1 + \sin 2x = 2 \cos^2(x) = 2 - 2 \sin^2(x) \rightarrow 2 \sin^2(x) = 1 \rightarrow \sin^2(x) = \frac{1}{2} \rightarrow \sin(x) = \pm \frac{1}{\sqrt{2}} \rightarrow x = k\pi + \frac{\pi}{4} \text{ or } x = k\pi + \frac{3\pi}{4}$$

$$\rightarrow \sin 2x = -1 \rightarrow \cos(x) = 0 \rightarrow x = \frac{\pi}{2} + k\pi$$

$$\rightarrow \sin(2x) = \frac{1}{2} \rightarrow \cos 2x = \pm \frac{\sqrt{3}}{2} \rightarrow \cos(2x) = \frac{\sqrt{3}}{2} \rightarrow 2x = 2k\pi \pm \frac{\pi}{6} \rightarrow x = k\pi \pm \frac{\pi}{12}$$

$$\Rightarrow x = \frac{\pi}{12}, \frac{5\pi}{12}, \frac{7\pi}{12}, \frac{11\pi}{12}, \frac{13\pi}{12}, \frac{17\pi}{12}, \frac{19\pi}{12}, \frac{23\pi}{12}$$

$$\sin^r x - \cos^r x = -(\sin^r x + \cos^r x)(\cos^r x - \sin^r x) = -\cos^r x = 1 \quad (1/1)$$

$$\cos^r x = -1 \rightarrow rx = rk\pi + \frac{\pi}{2}, \text{ where } r \rightarrow x = k\pi + \frac{\pi}{r} \rightarrow x = \frac{\pi}{r}, \frac{r\pi}{r}$$

$$\sin^r x - \cos^r x = -1 \rightarrow \cos^r x - \sin^r x = 1$$

$$\rightarrow (\cos x - \sin x)^r + r \sin x \cos x (\cos x - \sin x) = 1$$

$$-\sqrt{r} \leq t = \cos x - \sin x \rightarrow t^r = 1 + r \sin x \cos x \rightarrow \sin x \cos x = \frac{1-t^r}{r}$$

$$t^r + r \left(\frac{1-t^r}{r} \right) t = 1 \rightarrow t^r - t^r + r = 0 = (t-1)^r (t+r) \begin{cases} t=1 \\ t=-r \end{cases}$$

$$\begin{aligned} t=1 & \rightarrow \begin{cases} \sin x \cos x = \frac{1-t^r}{r} = 0 \\ \cos x - \sin x = 1 \end{cases} \rightarrow \begin{cases} \sin x = 0, \cos x = 1 \\ \cos x = 0, \sin x = -1 \end{cases} \rightarrow \begin{cases} x = rk\pi \\ x = rk\pi + \frac{r\pi}{r} \end{cases} \\ x = 0, \frac{r\pi}{r}, r\pi \end{aligned}$$

$$\frac{1 - \tan^r x}{1 + \tan^r x} = \tan^r x \rightarrow r = (1 + \tan^r x)(1 + \tan^r x)$$

$$1 - \tan^r x \tan^r x = \tan^r(x) + \tan^r(rx) \rightarrow \frac{\tan^r x + \tan^r rx}{1 - \tan^r x \tan^r rx} = \tan^r(rx) = 1$$

$$rx = k\pi + \frac{\pi}{r} \rightarrow x = \frac{k\pi}{r} + \frac{\pi}{r}$$